

DEGREE OF BEST ONE-SIDED INTERPOLATION BY HERMITE-FEJER POLYNOMIALS IN WEIGHTED SPACES

Saheb AL-Saidy

Jawad K. Judy

Dept. Of Mathematics / College of Science / Al-Mustansiriya University/Iraq/Sep.-2014

ABSTRACT: In this search we find a degree of best one-sided approximation of the function f that lies in weighted space ($L_{p,\alpha}$ -space) by interpolation-operators which based on Hermite-Fejer interpolation polynomial constructed on the zeroes of Stieltjes polynomial $E_{n+1}^{(\lambda)}$ and the product $E_{n+1}^{(\lambda)} P_n^{(\lambda)}$ for $0 \leq \lambda \leq 1$ and $0 \leq \lambda \leq \frac{1}{2}$ (resp.). Here we denoted of these interpolation-operators by $H_{n+1}^{*,\pm}(f, x_n)$ and $H_{2n+1}^{*,\pm}(f, x_n)$ where x_n is the set of zeroes of $E_{n+1}^{(\lambda)}$ and $E_{n+1}^{(\lambda)} P_n^{(\lambda)}$ (resp.) such that $P_n^{(\lambda)}$ is ultra-spherical polynomial with respect to $\omega_\lambda(x) = (1-x^2)^{\lambda-1/2}$. The result which we end in it that the limit of differences between $H_{n+1}^{*,+}$ and $H_{n+1}^{*,+}$ is zero and $H_{2n+1}^{*,+}, H_{2n+1}^{*,+}$ (resp.) i.e. $\lim_{n \rightarrow \infty} (H_{n+1}^{*,+} - H_{n+1}^{*,+}) = 0$ (resp. for $H_{2n+1}^{*,\pm}(f, x_n)$). Also in this search we shall prove inverse theorem by using equivalent result between $E_n(f)$ and $\tilde{E}_n(f)$ and inverse theorem in a best approximation case such that both pervious theorems are in weighted space where the weight function is a generalized Jacobi (GL) weighted $u(x)$. Finally we try to estimate degree of best one-sided approximation of the derivative of the function f in weighted space

KEYWORDS: Interpolation, Hermite-Fejer, Polynomials, Weighted Spaces

INTRODUCTION

Throughout this paper, we use the weight function:

$u_\alpha(x) = \prod_{k=0}^r |t_k - x|^{\alpha_k}, \alpha_k \geq -1, -1 = t_0 < t_1 < \dots < t_{r-1} < t_r = 1, |x| \leq 1$ Where t_r is any partition for $[-1, 1]$. For $1 \leq p \leq \infty$ the weighted space is define by:

$L_{p,\alpha} = \{f: X \rightarrow R, \text{ such that } |f(x)u_\alpha(x)| \leq M, \alpha \geq 1\}$ Such that for the

function f , $\|f\|_{p,\alpha} = \left[\int_a^b |f(x)u_\alpha(x)|^p dx \right]^{\frac{1}{p}} < \infty$ also:

$\|f\|_{\infty,\alpha} = \{ \sup\{|f(x)u_\alpha(x)|, x \in X\} \} < \infty, X = [-1, 1]$. In [1] Stieltjes polynomial $E_{n+1}^{(\lambda)}$ with respect to is satisfying:

$$\int_{-1}^1 \omega_\lambda(x) P_n^{(\lambda)}(x) E_{n+1}^{(\lambda)}(x) x^m dx \begin{cases} = 0, & 0 \leq m < n+1 \\ \neq 0, & m = n+1. \end{cases}$$

And denoted by $H_{n+1}[f, x]$ and $H_{2n+1}[f, x]$ to the Hermite-Fejer interpolation polynomials based on the zeros of the Stieltjes polynomials $E_{n+1}^{(\lambda)}$ and $E_{n+1}^{(\lambda)} P_n^{(\lambda)}$ (resp.) for $0 \leq \lambda \leq 1$ and $0 \leq \lambda \leq \frac{1}{2}$ (resp.) and $X = [-1, 1]$ with respect to the partition $x_n = \{x_{1n}, x_{2n}, \dots, x_{nn}\}, n \geq 1$ be a pairwise distinct nodes. We denoted to the zeroes of $P_n^{(\lambda)}$ and $E_{v,n}^{(\lambda)}$ by $x_{v,n}^{(\lambda)} = \cos \phi_{v,n}^{(\lambda)}, v = 1, \dots, n$ and $\xi_{\mu,n+1}^{(\lambda)} = \cos \theta_{\mu,n+1}^{(\lambda)}, \mu = 1, \dots, n+1$ and we denoted the zeroes of:

$$F_{n+1}^{(\lambda)} = P_n^{(\lambda)} E_{n+1}^{(\lambda)} \text{ By } y_{v,2n+1}^{(\lambda)} = \cos \psi_{v,2n+1}^{(\lambda)}, v = 1, \dots, 2n+1,$$

Also we set $\varphi(x) = \sqrt{1-x^2}$. The Hermite-Fejer interpolation $H_{n+1}[f, x]$ of f with respect to the zeros of $E_{n+1}^{(\lambda)}(x)$ admits representation:

$$H_{n+1}[f](x) = \sum_{k=1}^{2n+1} f\left(\xi_{u,n+1}^{(\lambda)}\right) \left[1 - \frac{\dot{E}_{n+1}^{(\lambda)}(\xi_{u,n+1}^{(\lambda)})}{E_{v,n}^{(\lambda)}(\xi_{u,n+1}^{(\lambda)})} (x - \xi_{u,n+1}^{(\lambda)})\right] L_{k,n+1}^2(x).$$

The Hermite-Fejer interpolation $H_{2n+1}[f, x]$ of f with respect to the zeros of $F_{2n+1}^{(\lambda)}(x)$ admits representation:

$$H_{2n+1}[f](x) = \sum_{v=1}^{2n+1} f\left(y_{v,2n+1}^{(\lambda)}\right) \left[1 - \frac{\dot{F}_{n+1}^{(\lambda)}(y_{v,2n+1}^{(\lambda)})}{F_{v,n}^{(\lambda)}(y_{v,2n+1}^{(\lambda)})} (x - y_{v,2n+1}^{(\lambda)})\right] L_{v,2n+1}^2(x).$$

Where $L_{k,n+1}$ is the fundamental Lagrange interpolation polynomial, also $L_{k,n+1}$ are given by:

$$L_{k,n+1} = \frac{E_{v,n}^{(\lambda)}}{\dot{E}_{v,n}^{(\lambda)}(\xi_{u,n+1}^{(\lambda)})(x - \xi_{u,n+1}^{(\lambda)})}, k = 1, 2, \dots, n+1$$

And:

$$L_{v,2n+1} = \frac{F_{v,n}^{(\lambda)}}{\dot{F}_{v,n}^{(\lambda)}(y_{u,n+1}^{(\lambda)})(x - y_{u,n+1}^{(\lambda)})}, v = 1, 2, \dots, 2n+1.$$

For $1 \leq p \leq \infty$ the usual modulus of continuity of smoothness is defined as:

$$\omega_r(f, h, X) = \sup_{0 \leq t < h} \|\Delta_t^r(f, x)\|_{p,\alpha} \text{ Also the D.T. modulus of continuity of smoothness is}$$

defined as:

$$\omega_{\varphi,p} = \sup_{0 < h < t} \|\Delta_{h\varphi} f(x)\|_{L_{p,\alpha}[-1,1]} \text{ Where:}$$

$$\Delta_{h\varphi} f(x) = f(x + h\varphi(x)/2) + f(x - h\varphi(x)/2).$$

Also, the K -functional is defined by:

$K(f, x)_{p,\alpha} = \inf\{\|f - g\|_{p,\alpha} + t\|\dot{g}\|_{p,\alpha} : g \in W_{p,\alpha}^1\}$ Where $W_{p,\alpha}^1$ is Sobolev space. For the function $f: X \rightarrow R$ the degree of best one sided approximation of the function $f \in L_{p,\alpha}(X)$ where $X = [-1, 1]$ is defined as:

$$\tilde{E}_n(f)_{p,\alpha(X)} = \inf_{P_n^{\pm} \in P_n} \|P_n^+ + P_n^-\|_{p,\alpha(X)} \text{ (Where } P_n \text{ is the space of all polynomials of degree } n$$

$$\text{and } P_n^-(x) \leq f(x) \leq P_n^+(x), x \in X).$$

And degree of best approximation of f is defined as:

$$E_n(f)_{p,\alpha(X)} = \inf_{P_n \in P_n} \|f - P_n\|_{p,\alpha(X)}.$$

AUXILIARY RESULTS

Theorem 2.1:[1]

Let $\lambda \in [0, 1]$, $1 < p < \infty$, $u \in L_p$ and let f be a continuous function on $[-1, 1]$ then:

$$\|(H_{n+1}[f](x) - f(x))u(x)\|_p \leq \omega_{\infty}^{\varphi}(f, \frac{1}{n}).$$

If we take limit when $p \rightarrow \infty$ get the following theorem:

Theorem 2.2:

Let $\lambda \in [0, 1]$, $1 < p \leq \infty$, $u_{\alpha}(x) \in L_p$ and let $f \in L_{p,\alpha}$ -space on $[-1, 1]$ then:

$$\|H_{n+1}[f](x) - f(x)\|_{\infty,\alpha} = \|(H_{n+1}[f](x) - f(x))u(x)\|_{\infty} \leq c\omega_{\infty,\alpha}^{\varphi}(f, \frac{1}{n})$$

Proof:

By using theorem 2.1 and properties of limit we have:

$$\begin{aligned} \lim_{p \rightarrow \infty} \|(H_{n+1}[f](x) - f(x))u(x)\|_p &\leq \lim_{p \rightarrow \infty} \omega_{\infty}^{\varphi}\left(f, \frac{1}{n}\right) \\ \|(H_{n+1}[f](x) - f(x))u(x)\|_{\infty} &\leq \lim_{p \rightarrow \infty} \left(\sup_{0 < h \leq n^{-1}} \left\{ \sup_{x \in X} \{\Delta_{\varphi, h}(f, x)\} \right\} \right) \\ &= \sup_{0 < h \leq n^{-1}} \left\{ \sup_{x \in X} \left\{ \lim_{p \rightarrow \infty} \Delta_{\varphi, h}(f, x) \right\} \right\} \\ &\leq c \sup_{0 < h \leq n^{-1}} \left\{ \sup_{x \in X} \{\Delta_{\varphi, h}(f, x)\} \right\} \\ &= c \omega_{\infty, \alpha}^{\varphi}\left(f, \frac{1}{n}\right). \end{aligned}$$

Theorem 2.3:[1]

Let $\lambda \in [0,1]$, $1 < p < \infty$, $(u\varphi^{2(1-2\lambda)}(x) + 1) \in L_p$ and let f be a continuous function on $[-1,1]$ then:

$$\|(H_{2n+1}[f](x) - f(x))u(x)\|_p \leq \omega_{\infty}^{\varphi}\left(f, \frac{1}{n}\right).$$

With the same way of proof's theorem 2.2 we get:

Theorem 2.4:

Let $\lambda \in [0,1]$, $1 < p \leq \infty$, $u(x)(\varphi^{2(1-2\lambda)}(x) + 1) \in L_p$ and let $f \in L_{p,\alpha}$ -space on $[-1,1]$ then:

$$\|(H_{2n+1}[f](x) - f(x))u(x)\|_{\infty} \leq c \omega_{\infty, \alpha}^{\varphi}\left(f, \frac{1}{n}\right).$$

As before mention we construct the operators $H_{n+1}^{*,\pm}(f, x_n)$ and $H_{2n+1}^{**, \pm}(f, x_n)$ as:

$$H_{n+1}^{*,\pm}(f, x_n) = H_{n+1}[f](x) \pm \|H_{n+1}[f](x) - f(x)\|_{\infty, \alpha(X)}$$

Also

$$H_{2n+1}^{**, \pm}(f, x_n) = H_{2n+1}[f](x) \pm \|H_{2n+1}[f](x) - f(x)\|_{\infty, \alpha(X)}.$$

Theorem 2.5:

For $f \in L_{p,\alpha}$ -space and $\lambda \in [0,1]$, $1 < p \leq \infty$, $u_{\alpha}(x) \in L_p$ on $[-1,1]$ we have:

$$H_{n+1}^{*, -}(f, x_n) \leq f(x) \leq H_{n+1}^{*, +}(f, x_n), x \in [-1,1].$$

Proof:

$$\begin{aligned} H_{n+1}^{*, +} &= H_{n+1}[f](x) + \|H_{n+1}[f](x) - f(x)\|_{\infty, \alpha(X)} \\ &= H_{n+1}[f](x) + \|H_{n+1}[f](x) - f(x)\|_{\infty(X)} \\ &\geq H_{n+1}[f](x) + |H_{n+1}[f](x) - f(x)| \\ &= H_{n+1}[f](x) + |f(x) - H_{n+1}[f](x)| \\ &\geq H_{n+1}[f](x) + f(x) - H_{n+1}[f](x) \\ &= f(x). \end{aligned}$$

With the same way we have:

$$H_{n+1}^{*, -}(f, x_n) \leq f(x)$$

Also with the same way for the operator $H_{2n+1}^{**, \pm}(f, x_n)$ we have:

$$H_{2n+1}^{**, -}(f, x_n) \leq f(x) \leq H_{2n+1}^{**, +}(f, x_n), x \in [-1,1].$$

Theorem 2.6: [1]

Let $\lambda \in [0,1]$ and let f be a continuous function on $[-1,1]$ then the uniformly for $x \in [-1,1]$:

$$\lim_{n \rightarrow \infty} |H_{n+1}[f](x) - f(x)| = 0.$$

Theorem 2.7: [1]

Let $\lambda \in [0,1]$ and let f be a continuous function on $[-1,1]$ then the uniformly for $x \in [-1,1]$

$$\lim_{n \rightarrow \infty} |H_{2n+1}[f](x) - f(x)| = 0.$$

MAIN RESULTS

Theorem 3.1 : (Direct Theorem By using $H_{n+1}^{*,\pm}$ -Operator)

For the function $f \in L_{p,\alpha}[-1,1]$ -space and $H_{n+1}^{*,\pm}$ -operator we have:

$$\tilde{E}_n(f, x)_{p,\alpha} \leq c_p \omega_{\infty,\alpha}^{\varphi}\left(f, \frac{1}{n}\right).$$

Proof:

By the theorems 2.5 and 2.2 we have:

$$\begin{aligned} \tilde{E}_n(f, x)_{p,\alpha} &\leq \|H_{n+1}^{*,+} - H_{n+1}^{*,+}\|_{p,\alpha} \\ &\leq \| \|H_{n+1}[f](x) - f(x)\|_{\infty,\alpha} + \|H_{n+1}[f](x) - f(x)\|_{\infty,\alpha} \|_{p,\alpha} \\ &= 2c_p \|H_{n+1}[f](x) - f(x)\|_{\infty,\alpha} \\ &\leq 2c_p \omega_{\infty,\alpha}^{\varphi}\left(f, \frac{1}{n}\right) = c_p \omega_{\infty,\alpha}^{\varphi}\left(f, \frac{1}{n}\right). \end{aligned}$$

Theorem 3.2 : (Direct Theorem By using $H_{2n+1}^{**, \pm}$ -Operator)

For the function $f \in L_{p,\alpha}[-1,1]$ -space and $H_{2n+1}^{**, \pm}$ -operator we have:

$$\tilde{E}_n(f, x)_{p,\alpha} \leq c_p \omega_{\infty,\alpha}^{\varphi}\left(f, \frac{1}{n}\right).$$

Proof:

By the theorems 2.5 and 2.4 we have:

$$\begin{aligned} \tilde{E}_n(f, x)_{p,\alpha} &\leq \|H_{2n+1}^{**, +} - H_{2n+1}^{**, +}\|_{p,\alpha} \\ &\leq \| \|H_{2n+1}[f](x) - f(x)\|_{\infty,\alpha} + \|H_{2n+1}[f](x) - f(x)\|_{\infty,\alpha} \|_{p,\alpha} \\ &= 2c_p \|H_{2n+1}[f](x) - f(x)\|_{\infty,\alpha} \\ &\leq 2c_p \omega_{\infty,\alpha}^{\varphi}\left(f, \frac{1}{n}\right) = c_p \omega_{\infty,\alpha}^{\varphi}\left(f, \frac{1}{n}\right). \end{aligned}$$

Now, we discuss the uniform convergence of the $H_{n+1}^{*,\pm}$ and $H_{2n+1}^{**, \pm}$ -operators as the following:

Theorem 3.3:

Let $\lambda \in [0,1]$, $1 < p < \infty$, $u \in L_p$ and let $f \in L_{p,\alpha}[-1,1]$ then the uniformly convergence for $x \in [-1,1]$ is:

$$\lim_{n \rightarrow \infty} |H_{n+1}^{*,+} - H_{n+1}^{*,+}| = 0.$$

Proof:

As in proof of theorem 3.1, properties of limit and theorem 2.6, we get:

$$\begin{aligned} \lim_{n \rightarrow \infty} |H_{n+1}^{*,+} - H_{n+1}^{*,+}| &= \lim_{n \rightarrow \infty} |2(\|H_{n+1}[f](x) - f(x)\|_{\infty,\alpha})| \\ &= 2 \lim_{n \rightarrow \infty} \|H_{n+1}[f](x) - f(x)\|_{\infty,\alpha} \\ &= 2 \lim_{n \rightarrow \infty} \sup_{x \in X} \{|H_{n+1}[f](x) - f(x)|\} \\ &= 2 \sup_{x \in X} \{\lim_{n \rightarrow \infty} |H_{n+1}[f](x) - f(x)|\} \\ &= 2 \sup_{x \in X} \{(0) = 2(0) = 0\}. \end{aligned}$$

With the same way we can prove the following theorem:

Theorem 3.4:

Let $\lambda \in \left[0, \frac{1}{2}\right]$, $1 < p < \infty$, $u \in L_p$ and let $f \in L_{p,\alpha}[-1,1]$ then the uniformly convergence for $x \in [-1,1]$ is:

$$\lim_{n \rightarrow \infty} |H_{2n+1}^{*,+} - H_{2n+1}^{*, -}| = 0.$$

Theorem 3.5: [2]

For $f \in L_{p[-1,1]}$, $1 \leq p \leq \infty$ we have:

$$E_n(f)_\infty \leq \tilde{E}_n(f)_\infty \leq 2E_n(f)_\infty.$$

With the same way of prove above theorem we can prove the following theorem:

$$E_n(f)_p \leq \tilde{E}_n(f)_p \leq 2E_n(f)_p.$$

Theorem 3.6:

For $f \in L_{p[-1,1]}$, $1 \leq p \leq \infty$ we have:

$$E_n(f)_{p,\alpha} \leq \tilde{E}_n(f)_{p,\alpha} \leq 2E_n(f)_{p,\alpha}.$$

Proof:

Since fu is bounded function and by using above theorem we get:

$$E_n(f)_{p,\alpha} = E_n(fu)_p \leq \tilde{E}_n(fu)_p = \tilde{E}_n(f)_{p,\alpha}$$

And:

$$\tilde{E}_n(f)_{p,\alpha} = \tilde{E}_n(fu)_p \leq 2E_n(fu)_p = 2E_n(f)_{p,\alpha}.$$

The following theorem is proved in [4] for Hermite-Fejer polynomials by using zeros of first kind Chebyshev polynomial $T_n(x) = \cos(ncos^{-1}x)$, $-1 \leq x \leq 1$

And:

$$x_k = \cos\theta_k, \theta_k = \frac{2k-1}{2n}, k = 1, 2, \dots, n.$$

Now, we shall prove same theorem by using zeroes of Stieltjes polynomial $E_{n+1}^{(\lambda)}$:

Theorem 3.7:

For $f \in L_{p,\alpha}[-1,1]$, $1 \leq p \leq \infty$ we have:

$$\tau(f, \Delta(\cdot, \frac{1}{n}))_{p,\alpha} \leq \frac{c}{n} \sum_{s=0}^n \begin{cases} \|f - H_s\|_{p,\alpha} + \|\check{f} - H_s\|_{p,\alpha} & \text{if } p = 1, \infty \\ \|f - H_s\|_{p,\alpha} & \text{if } 1 < p < \infty \end{cases}.$$

Before, we prove the above theorem we needed to prove the following lemmas:

Lemma 3.8: [4]

Let $f, g \in L_{p,\alpha}$, $(1 \leq p \leq \infty)$, $\delta > 0$ then:

$$\tau_k(f, \delta)_{p,\alpha} \leq \tau_k((f - g), \delta)_{p,\alpha} + \tau_k(g, \delta)_{p,\alpha}.$$

Lemma 3.9: [4]

Let $f, g \in L_{p,\alpha}$, $(1 \leq p \leq \infty)$, $\delta > 0$ then:

$$\tau_k(f, \delta)_{p,\alpha} \leq c\|f\|_{p,\alpha}.$$

Lemma 3.10: [4]

If $f, \check{f} \in L_{p,\alpha}$, $(1 \leq p \leq \infty)$, $\delta > 0$ then:

$$\tau_k(f, \delta)_{p,\alpha} \leq \delta\|\check{f}\|_{p,\alpha}.$$

Lemma 3.11: [4]

Let $f \in L_{p,\alpha}(x)$ such that $(1 \leq p < \infty)$ then:

$$K(f, \frac{1}{n}, l_{p,\alpha}, \omega_{p,\alpha}^1) \leq \frac{c}{n} \sum_{s=0}^n \begin{cases} E_s(f)_{p,\alpha} + E_s(\tilde{f})_{p,\alpha} & \text{if } p = 1, \infty \\ E_s(f)_{p,\alpha} & \text{if } 1 < p < \infty \end{cases}.$$

Lemma 3.12: [4]

If $f \in L_{p,\alpha}$, ($1 \leq p \leq \infty$), and $0 \leq \delta < \delta$ then:

$$\tau_k(f, \delta)_{p,\alpha} \leq \tau_k(f, \delta)_{p,\alpha}.$$

Proof of theorem 3.7:

By using lemmas (3.8), (3.9) and (3.10), we get:

$$\begin{aligned} \tau(f, \frac{1}{n})_{p,\alpha} &\leq \tau((f - g), \frac{1}{n})_{p,\alpha} + \tau(g, \frac{1}{n})_{p,\alpha} \\ &\leq c\|f - g\|_{p,\alpha} + \frac{1}{n}\|g\|_{p,\alpha} \\ &= K(f, \frac{1}{n}, L_{p,\alpha}, \omega_{p,\alpha}^1) \end{aligned}$$

Now, by using lemma (3.11) we get:

$$\begin{aligned} \tau(f, \frac{1}{n})_{p,\alpha} &\leq \frac{c}{n} \sum_{s=0}^n \begin{cases} E_s(f)_{p,\alpha} + E_s(\tilde{f})_{p,\alpha} & \text{if } p = 1, \infty \\ E_s(f)_{p,\alpha} & \text{if } 1 < p < \infty \end{cases} \\ &\leq \frac{c}{n} \sum_{s=0}^n \begin{cases} \|f - H_s\|_{p,\alpha} + \|\tilde{f} - H_s\|_{p,\alpha} & \text{if } p = 1, \infty \\ \|f - H_s\|_{p,\alpha} & \text{if } 1 < p < \infty \end{cases} \end{aligned}$$

By using lemma (3.12) we have:

$$\tau(f, \Delta(\cdot, \frac{1}{n}))_{p,\alpha} \leq \tau(f, \frac{1}{n})_{p,\alpha}$$

And the proof is complete.

Theorem 3.13:

For $f \in L_{p,\alpha[-1,1]}$, $1 \leq p \leq \infty$ and $H_{n+1}^{*,\pm}$ -operator we have:

$$\tau(f, \frac{1}{n})_{p,\alpha} \leq \frac{c}{n} \sum_{s=0}^n \begin{cases} \tilde{E}_s(f)_{p,\alpha} + \tilde{E}_s(\tilde{f})_{p,\alpha} & \text{if } p = 1, \infty \\ \tilde{E}_s(f)_{p,\alpha} & \text{if } 1 < p < \infty \end{cases}.$$

Proof:

By using theorems 3.6 and 3.7 we get:

$$\tau(f, \frac{1}{n})_{p,\alpha} \leq \frac{c}{n} \sum_{s=0}^n \begin{cases} \tilde{E}_s(f)_{p,\alpha} + \tilde{E}_s(\tilde{f})_{p,\alpha} & \text{if } p = 1, \infty \\ \tilde{E}_s(f)_{p,\alpha} & \text{if } 1 < p < \infty \end{cases}.$$

Now, we try to estimate a degree of best one-sided approximation of the derivative of the function $f \in L_{p,\alpha[-1,1]}$, $1 \leq p \leq \infty$.

The following theorem is proved in [3] for the function $f \in C[a, b]$ by using trigonometric polynomials in this part we shall prove same theorem for $f \in L_{p,\alpha[-1,1]}$ by using algebraic polynomial.

Lemma 3.14: [3]

For each real p there is a constant M_p with the property that for each sequence $0 < u_k \leq u_{k+1} \leq \dots \leq u_l$, such that $2 \leq u_i/u_{i-1} \leq 4$ for $k < i \leq l$, and for each positive decreasing function $\phi(u)$ defined for $u \geq 0$ (or at least for all values u_i and all $u = 0, 1, \dots$),

$$\sum_{i=k}^l u_i^p \phi(u_i) \leq M_p \sum_{[\frac{1}{2}u_k] \leq n < u_l} (n+1)^{p-1} \phi(n).$$

Theorem 3.15:

For $f \in L_{p,\alpha}[-1,1]$, $1 < p \leq \infty$ and $r \geq 1$, $\sum_{n=1}^{\infty} n^{r-1} E_n(f) < +\infty$
Then $f^{(r)}$ exists and is continuous, and its degree of approximation satisfies

$$E_n(f^{(r)}) \leq c_r \sum_{[n/2]}^{\infty} k^{r-1} E_k(f);$$

The constant M_r depends only on r .

Proof:

If $P_k(x)$ is the polynomial of best approximation of degree k for $f(x)$ then

$$f(x) - P_n(x) = \sum_{i=1}^{\infty} \{P_{2^i n}(x) - P_{2^{i-1} n}(x)\}$$

This series converges uniformly. The series obtained by formal differentiation

$$f^{(s)} = P_n^{(s)}(x) + \sum_{i=1}^{\infty} \{P_{2^i n}^{(s)}(x) - P_{2^{i-1} n}^{(s)}(x)\}, \quad 1 \leq s \leq r$$

Also, converge uniformly as a consequence, since the norm of the i th term does not exceed (i.e. if $\|P_n^{(r)}\|_p \leq M n^r$).

$$2^{is} n^s \|P_{2^i n}(x) - P_{2^{i-1} n}(x)\|_{p,\alpha} \leq 2.2^{is} \cdot n^s \phi(2^{i-1} n), \text{ Where } \phi(n) = E_n(f).$$

And the convergence of the series $\sum (2^{i-1} n)^r \phi(2^{i-1} n)$ follows from lemma 3.14, by now a theorem about uniformly convergent series $f^{(r)}(x)$ exists and is equal to the sum of the last series this proving the first part of the theorem.

For the second part, we can now write

$$\begin{aligned} \|f^{(r)} - P_n^{(r)}\|_{p,\alpha} &= \|(f^{(r)} - P_n^{(r)})u(x)\|_p \leq \sum_{i=1}^{\infty} \|(P_{2^i n}^{(r)} - P_{2^{i-1} n}^{(r)})u(x)\|_p \\ &= \sum_{i=1}^{\infty} \|P_{2^i n}^{(r)} - P_{2^{i-1} n}^{(r)}\|_{p,\alpha} \\ &= \sum_{i=1}^{\infty} \|(P_{2^i n}^{(r)} - P_{2^{i-1} n}^{(r)})u_\alpha(x)\|_p \\ &= \sum_{i=1}^{\infty} \|P_{2^i n}^{(r)} - P_{2^{i-1} n}^{(r)}\|_p \\ &\leq c \sum_{i=1}^{\infty} (2^{i-1} n)^r \phi(2^{i-1} n) \\ &\leq c \sum_{[n/2]}^{\infty} k^{r-1} \phi(k). \end{aligned}$$

By lemma 3.14, the proof is completes.

Theorem 3.16: [5]

For $f \in L_p$ -space, $0 < p \leq \infty$ and positive integer k , there exists an algebraic polynomial P_n of degree $\leq n$ such that:

$$E_n(f)_p \leq \|f - P_n\|_p \leq c_k \omega_k^\varphi(f, n^{-1})_p.$$

Theorem 3.17:

For $f \in L_{p,\alpha}$ -space, $0 < p \leq \infty$ and positive integer k , there exists an algebraic polynomial P_n of degree $\leq n$ such that:

$$E_n(f)_{p,\alpha} \leq \|f - P_n\|_{p,\alpha} \leq c_k \omega_k^\varphi(f, n^{-1})_{p,\alpha}.$$

Proof:

By using theorems 3.16 we get:

$$\begin{aligned} E_n(f)_{p,\alpha} &\leq \|f - P_n\|_{p,\alpha} = \|(f - P_n)\omega_\alpha\|_p \leq c_k \omega_k^\varphi(f\omega_\alpha, n^{-1})_p \\ &\leq c_k \omega_k^\varphi(f, n^{-1})_{p,\alpha}. \end{aligned}$$

Theorem 3.18:

For $f \in L_{p,\alpha}[-1,1]$, $1 \leq p \leq \infty$ and $H_{n+1}^{*,\pm}$ -operator we have:

$$\tilde{E}_n(\dot{f}, x)_{p,\alpha} \leq (2n-1)\omega_{\infty,\alpha}^\varphi(f, \frac{1}{n}).$$

Proof:

By using theorem 2.5, Bernstein equality and theorem 3.1 and since:

$$H_{n+1}^{*,+}(f, x_n) \leq f(x) \leq H_{n+1}^{*,+}, \text{ so we have:}$$

$$\text{Either } \dot{H}_{n+1}^{*,+}(f, x_n) \leq \dot{f}(x) \leq \dot{H}_{n+1}^{*,+} \text{ or } \dot{H}_{n+1}^{*,+}(f, x_n) \leq \dot{f}(x) \leq \dot{H}_{n+1}^{*,+}$$

So we have:

$$\begin{aligned} \tilde{E}_n(\dot{f}, x)_{p,\alpha} &\leq \|\dot{H}_{n+1}^{*,+}(f, x) - \dot{H}_{n+1}^{*,+}(f, x)\|_{p,\alpha} \\ &\leq \|(H_{n+1}^{*,+}(f, x) - H_{n+1}^{*,+}(f, x))'\|_{p,\alpha} \\ &\leq (2n-1)\|H_{n+1}^{*,+}(f, x) - H_{n+1}^{*,+}(f, x)\|_{p,\alpha} \\ &\leq (2n-1)\omega_{\infty,\alpha}^\varphi(f, \frac{1}{n}). \end{aligned}$$

The other cases and by using theorems 3.15, 3.17 we have:

$$\begin{aligned} \tilde{E}_n(\dot{f}, x)_{p,\alpha} &= E_n(\dot{f}, x)_{p,\alpha} \leq \|\dot{f}(x) - \dot{H}_{n+1}^{*,+}(f, x)\|_{p,\alpha} \\ &= \|\dot{f}(x) - \dot{H}_{n+1}[f](x) - (\|f(x) - H_{n+1}[f](x)\|_{\infty,\alpha})'\|_{p,\alpha} \\ &= \|\dot{f}(x) - \dot{H}_{n+1}[f](x)\|_{p,\alpha} \\ &\leq c_k \sum_{[n/2]}^\infty k^{r-1} \omega_k^\varphi(f, n^{-1})_{p,\alpha}. \end{aligned}$$

REFERENCES

- [1] H.S.JUNG "HERMITE AND HERMITE-FEJER INTERPOLATION FOR STIELTJES POLYNOMIALS "Mathematics of Computation, s 0025-5718(05)01795-3, Article electronically published on November 3, 2005.
- [2] Y. K. Hu, 1995: Positive and Copositive Spline Approximation in $L_p[0,1]$. Computers Math. Applic.. Elsevier Science Ltd.
- [3] G.G. Lorentz "Approximation of Functions "Copyright©1966 by Hotl, Rinehart and Winston, Inc. Library of Congress Number: 66-13296.
- [4] Lekaa A. Husain "Unbounded Functions Approximation in Some- $L_{p,\alpha}$ Spaces" Thesis, College of Scientific/Department Of Mathematics/Al-Mustansiriya University June 2010.
- [5] Ronald A. Devour, Dany Leviatan, and Xiang Ming Yu "Polynomial Approximation in L_t , ($0 < p < 1$)" Constr. Approx. (1992) 8:187-201, _9 1992 Springer-Verlag New York Inc.

